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Solving Systems of Equations by Graphing Date

Solve each system by graphing (find the point of intersection of the two lines) .
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Solve each system by graphing (find the 'pgint of intersection of the two lines).
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Coordinate Algebra Name:?Pﬂ(Eh(‘Q

Solving Systems by Substitution Date: Block:

Solve each system by substitution.

1) ix—-;z =18 ‘-{}(*5(_’3)2‘8 2) {3x5—x2‘7=—-12 ~5X-§8§x:¥7> :“]3
Lb(+7§é 2 ~2x-lx 1L =13
(e 5‘-‘5@'7 -1 Bx t! :_-lg

Soludig Ux=13 210-9 i’ | Wt

—fyb 4 Ty Y = \2x=dp
(5,& X:?) lj;z -1% -5

6@|u+;0/] X=4
3x+5 zé-% *—%-)

3) ;’:S?:—_g tj :”50) 5 | 4) s i’ 1‘ % =y
FrUlmam)="% ="54) )] 4=
BX+ax-a0 =5 = A ax-50 - | ~]~ﬂ

7% 120 ‘1-"5% J X -2X+%="1 Solu "g
+ 0 _ -
= solukon xtg=] (4,3
X = (!, g) _‘_,L\Z:;ﬁ‘{
3 4x+y=6 = L*

i S e e

-z 17 Sx-la) =3 177
"’bx+!5x+51-5:5 Y+ -Bx-UX - b :iﬁ\ Y

x5 5 o j&}é il 3 oluton
|ax =48 -9 = A7 (6,‘@
x=4 (U ,5> =

X="5




2 Ny Pl
Py

7} x-2y=11 Xz 3y +]
~TAyth)-3y ="13
“l4y-T1-ay =713
~ ] :‘l5
][094;‘7 7]
oy =" 64

= T

y="4

SO | uﬂL:m

“Zy+3(x+3) =}

215+ =4
q=4 False

NO Solution

?.)

-3x—-4y=2

3x+3y=—3 I
y —Z%

Zrmy=-d N =3AX-T y=-
10) 5x-2y=18 —-'T\l ‘v’\"?? p’gx-[ﬁ(

5x+ix-13 =18 [ _-g.q

-1 =18

OUK.%% +|§ \]:\
AM=%06
4 slabion

R ()

5x-4(ax9) =18 y=a0H]
\]




Skeps for solving by ELIMINATIDN o3
() Line P @,c%um’*ons

@ Cheekrto see dyou can el minae o variable

@ Eliwminak 1 vaciable and sp(ve

©) Substule et back 4o one @cauafrm +s0lve

® wide 0s a coord:nate. (%,y)if possible

Sxoumpless
v+l “(001)*% l(" Solution ,
:-:SX lﬂ Cg% -4 +|ﬁ CUI %,> |
-11X | HLL Al ) }
L ‘ﬁ-‘
Y=Y ?
“HK Uy = - “5)(+L{(q 69/017[}0/1:’ '
X ";jfﬁp BX (0 +% C’]“?)
EE
U3 Xﬂ?
' .8
' X*IQ% == A M
9(5)(41(@ = 37) -0y 19
J 0 aﬂ LBy
_jslj("-:q‘ BT
) ){:"5 lj_,a




L \‘\ : S w%f‘s"f&%&.&‘g}b ﬂ,‘h.:' e
G T Lj‘ I COxty: )
T N t‘ﬁu.j MJJ H e
\. - V/

" ey TR ;‘S'ofu“f;cm

4| (0-1)

1 Ab
Lj : &
0 0 fl ue /J H‘I.H‘Rluj Hamj Selut; 005

Sx=T4by  4(5%-by: i) 0K -104 14
| OX +\2Lj:‘l€ IOY\JrlQu g -+ x_/;_”lg

O Ll Fa =7l /30uu'ﬂff\/

T

. ‘\ *
R & Wl
224 2

4
BT T 3_‘
. t’ LRl
, £ _-_,,_f"

S 3



Coordinate Algebra
Solving Systems by Elimination

Solve each system by Elimination.
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